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KM1: X EGIER (S EUFERBIT BE)
B ul - -~ = *
DHLE
5 20254F3H K | 20244F12H K | 20244E9H K | 20244F6 H K | 20244E3 H K
N
1 [EZBESXETierl EADE 1,556,637 1,637,558 1,677,753 1,716,923 1,707,616
2 |Tierl BAD%E 1,832,137 1,930,058 1,945,253 1,950,423 1,941,116
3 |#BCEADEE 2,176,037 2,242,320 2,259,925 2,216,570 2,209,640
YR -7yt DEE
4 (YR TEILDE 10,844,510 10,837,558 10,423,820 11,584,030/ 11,605,979
da  |YRG-7HEy+OE(TOTRER) 10,844,510| 10,837,558 10,423,820  11,584,030| 11,605,979
YRY -7yt OE(TOTHERHREBRE—R) 10,844,510 10,837,558 10,423,820 11,584,030 11,605,979
BOEARLE
5  |EBEMRE T TerkbE 14.35% 15.11% 16.09% 14.82% 14.71%
5a |Z@EHXETier1 LT (TOT7FRHD 14.35% 15.11% 16.09% 14.82% 14.71%
LEKRRXETer LR (TOT7RABREREHEA—X) 14.35% 15.11% 16.09% 14.82% 14.71%
6 |Tierltbs 16.89% 17.80% 18.66% 16.83% 16.72%
6a Tier1tLH (T 7 %A 16.89% 17.80% 18.66% 16.83% 16.72%
Tier1 tLLH (IO7 ARRMREMHER—R) 16.89% 17.80% 18.66% 16.83% 16.72%
7 |#BECEXRLE 20.06% 20.69% 21.68% 19.13% 19.03%
7a  |#BCEAXRLLE(TIOTRERN) 20.06% 20.69% 21.68% 19.13% 19.03%
HECEARLER(OOTRHERHREHR—R) 20.06% 20.69% 21.68% 19.13% 19.03%
BAL /ALy DHLE
1B [(BIHRKR—Sv—n%EE 25,404,814 26334937  24,626914 27,951,255 27,377,331
14 (BALALySHR 7.21% 7.32% 7.89% 6.97% 7.09%
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e = N = N
[E5] 352
D
= 202543 A K | 20244E12H K | 20244E9H K | 2024456 H K | 20244E3 8 K
BATREIE D S L DR
15 B A FTRERE RS BN MR PE O & FHR 15,446,414 14,636,220 15,210,786 14,925,719 14,955,404
16 |l A A 10,634,222 9,648,853 10,619,291 10,702,152 10,046,956
17 [HERRENE D S v bR 145.2% 151.6% 143.2% 139.4% 148.8%
HRZE E TR
18 |FIFH FTREZ EFHEHH 14,414,924 14,243,467 14,607,149 14,510,967
19 |TEE e 11,165,886 10,798,075 12,086,929 11,902,879
20 | HiRZE R 129.0% 131.9% 120.8% 121.9%




